
Dividing by Negative Powers of Ten (J)
Name: Date:

Divide each number by negative powers of ten.

65÷ 100 =
65÷ 10−1 =

65÷ 10−2 =

65÷ 10−3 =

65÷ 10−4 =

30÷ 100 =
30÷ 10−1 =

30÷ 10−2 =

30÷ 10−3 =

30÷ 10−4 =

88÷ 100 =
88÷ 10−1 =

88÷ 10−2 =

88÷ 10−3 =

88÷ 10−4 =

44÷ 100 =
44÷ 10−1 =

44÷ 10−2 =

44÷ 10−3 =

44÷ 10−4 =

77÷ 100 =
77÷ 10−1 =

77÷ 10−2 =

77÷ 10−3 =

77÷ 10−4 =

15÷ 100 =
15÷ 10−1 =

15÷ 10−2 =

15÷ 10−3 =

15÷ 10−4 =

97÷ 100 =
97÷ 10−1 =

97÷ 10−2 =

97÷ 10−3 =

97÷ 10−4 =

51÷ 100 =
51÷ 10−1 =

51÷ 10−2 =

51÷ 10−3 =

51÷ 10−4 =

62÷ 100 =
62÷ 10−1 =

62÷ 10−2 =

62÷ 10−3 =

62÷ 10−4 =

26÷ 100 =
26÷ 10−1 =

26÷ 10−2 =

26÷ 10−3 =

26÷ 10−4 =
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